
. GOVERNMENT COLLEGE OF COMMERCE AND ECONOMICS, BORDA, MARGAO-
GOA.

B. COM. (SEMESTER III), SEMESTER EXAMINATION- OCTOBER, 2019
FUI{DAMENTALS OF COST ACCOUNTING. CC.IO

Time 2 hrs Total Marks: 80

Instrttctions:

1. Qno.l is compulsory
2. Answer any 3 from Q.NO.2 to Q. NO" 6
3. Figures to the right indicute fuU marks

Q,No.l. Answer the following (4x5:20 marks)

i) From anufactured.the following particulars, find out the goods produced or m
Opening stock of finished goods 4,000 units

Closing stock of finished goods 5,200 units

Sales 36,800 units

ii) Calculate the value of abnormal loss/ abnormal gain, from the following particulars.

lnput 20,000 units
Normal loss 5%

Actual output 18,500 units
Value of normal Rs. 5/ unit
Total cost Rs.45,000/-

iii) From the following information calculate the amount of profit to be transferred to profit and loss

account.
Contract price 1_8,00,000

Work certified 12,00,000

Cash received 9,60,000

Notional profit 1,32,000

iv) From the following particulars find out the cost ofjoint product A, B and C under a'verage

cost method.
a) Joint costs are Rs. 20,000
b) Other n data:

Products Units produced

A 500

B 200

c 300
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'Q'No 2'The following figures are extracted from the books of ws Rudra Manufacturers, for the

T:I:::y:::11','.?^!:-\:::'^:,!:t:"! nyyare a (yaikd cost stdtement, showins the cost pei
and sold are 1000.

Office expenses

Drrect m"tenals

5ire"t t"b"ur -
T\^--^^.1^r: ^- - --

2,500

1,20,000

25,00a
'P ur pranr ano macnmery 750

r usraBtr aflu relepnone expenses
f\*-^^:^ri^- -rffi--

2,000
r,,gPl sl.,rallufi uI olrlce Dullorng

Insurance of plant and machinery

rurcnase returns

-

tlir..yru,

404

600

150

120

150

1,500
(ururuqrng sales matrager Rs. 25001_ )

D-^
15,000

n4ruPrss uISLnouleo 2,00a
rry rrcluolng KS. )uu/_ Ior ottrce

A-
2,000

1,000

17,000
paru 500

r?.\yg

Sates

rur lJarr.tcrparmg tn exftbttlons 750

3,10,000

QNos' Julius companies of contractors Ltd. undertook a contract on 1-1-201g. The company was
engaged on only one conkact of which ttre contract price was Rs. 10, 00,000. Of the plant and

T"]:i"1. charged to the contract, plant costing rs, 10,000 /- and,materials costing Rs. g,000/-, were lost
m acclclent.
On 3 l't December 201 8, plant costing Rs. 10,000/- was returned to stores. Cost of work uncertified as
on date was valued at Rs. 4,0001- andmaterials in hand on site were Rs. 8,000/-Charg e L}o/o
depreciation on plant. (20 marks)

The Trial Balance extracted from their books as on 3l't December,2018 stood as follows:
Dr.
Rs.

Cr.
Rs.

Share capital 2,40,000
)unory credrtors

20,000
Land and Building at cost 86,000
Cash at bank 40,000
lvtarenals

1,80,000
Plant 50,000
l{4ges 2.90.000
General expenses 14,000
Cash received (being 80% of wort ce,trfr.Ot 4,00,000

6,60,000 6,60,000
Prepare contract uc"ornt

marks)
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Q. No.{.
unit r,vere

A Product passes through three processes -A, B and c.10,000 units at a cost of Rs.
lllged to process A. The followine other information is availahle ro worr et

Additionai information :

There was no stock of materials or wIP at the beginning or at the end.
Prepare the process accounts.

1.104 per
,marks)

/

Q.s
The

A. A factoryproduces three products, 'X', ,y, and oZ,,which originates from
joint costs are as follows

a joint process.
(10 marks)

The t costs are as given below
Particulars

Materials
Wages
Overheads
Total

Sales
Estimated profit on sales

x
3,500
1,050

450
5.000

50,000
20%

Y
3,250
1,000

250
4.s00

35,000
30%

Z
1,450

950
600

3.000

30,000
40%

Prepare a statement showing apportionment of Joint Costs and ascertain the total cost and profit of
each product.

Q-5 B. Write contract account from the following particulars of Meena and company. Direct materials
Rs. 10200/- wages Rs. 16800/-, special plant Rs" 8000i-, stores issued Rs. 2880/-,1oose tools Rs.1500/-
administrative expenses rs.25551- cost of tractor( fuel, wages of drivers etc.) Rs. 34501- contract price
Rs.40000/-.
The conkact was completed in 20 weeks. The special plant was returned subject to depreciation of
20Yo per annum on original cost. The value of loose tools and stores retumed were Rs- 1000/- and Rs.
400/- respectively. The written down value of the tractor used for the contract was Rs. 19500/- and
depreciation on this value was to be charged to this contract at 2oo/oper annum.

6. Write short notes on any four of the following:
a) Equivalent production .

b) Abnormal loss and abnormal gain.
c) Joint product and by-product
d) Semi- variable expenses
e) Escalation clause

(10 marks)

(20 marks)

e tollowln er rniormation is available to you. e0
Process I

Rs.
Process-II

Rs
Process-III

Rs

Direct materials 1,500 1,500 1,500
DiI".t wages 4,500 8,000 6,500
Qq9"t expenses 1"000 1,000 1,503
Production overheads 7,200 12,800 10,400
Scrap/ normal loss (%) 5% 4% s%
Value of scrap per unit 0.25t- 0.50/- Ll-

Material
Labour
Overheads
Total

50,000
9,000
4.000

63.000

).*


